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ahs" Worksheet #3

MeandMath

( Apple Basket Word Problem )

Learmng goal: Students will be able to read and comprehend the story

sums an

|Prob|em #1: Ria has 4 apples. Sam gives her
'5 more. How many apples does Ria have in
Hotal?

A e e e

|Prob|em #3: Tina has 4 apples. Arya gives her ! !
'5 more. How many apples does Tina have in
Htotal?

________________________________________

EProbIem #5: Mihir has 6 apples. Sarthak
i gives her 9 more. How many apples does

]
I Mihir have in total?

A e

apply the concept of addition to solve them correctly.

| Problem #2: Priya has 8 apples. Sia gives
' her 6 more. How many apples does Priya
| have in total?

________________________________________

| Problem #4: Anu has 4 apples. Shiny gives

' her 5 more. How many apples does Anu have
|

lin fotal?

P

________________________________________

| Problem #6: Alia has 9 apples. Kirat gives
' her 9 more. How many apples does Alia

|

I have in total?

P T

A e e




Name:

Grade:

Score:

wds "

MeandMath

Worksheet #3 (Answers)

( Apple Basket Word Problem )

Learnmg
sums an

|Prob|em #1: Ria has 4 apples. Sam gives her
'5 more. How many apples does Ria have in
i’ro’rol?

iSoluiion:

iRia has 4 apples.

=Som gives her 5 more apples.

i Total number of apples=4+5=9

Ria has 9 apples in total.

A e e

|Prob|em #3: Tina has 4 apples. Arya gives her ! ,
'5 more. How many apples does Tina have in

1
Itotal?

iSolution:

1

iTinc has 4 apples.

'Arycl gives her 5 more apples.

I Total number of apples=4+5=9

Tina has 9 apples in total.

P

________________________________________

EProbIem #5: Mihir has 6 apples. Sarthak
i gives her 9 more. How many apples does
E/v\ihir have in total?

ESoluiion:

EN\ihir has 4 apples.

i Sarthak gives her 5 more apples.
ETo’raI number of apples=4+5=9

1 Mihir has 9 apples in total.

A e

goal: Students will be able to read and comprehend the story
apply the concept of addition to solve them correctly.

| Problem #2: Priya has 8 apples. Sia gives
' her 6 more. How many apples does Priya
i have in total?

i Solution:

| Priya has 4 apples.

i Sia gives her 5 more apples.

i Total number of apples =4 +5=9

i Priya has 9 apples in total.

o

________________________________________

| Problem #4: Anu has 4 apples. Shiny gives

' her 5 more. How many apples does Anu have
i in total?

iSqufion:

iAnu has 4 apples.

i Shiny gives her 5 more apples.
iTquI number of apples=4+5=9

i Anu has 9 apples in total.

P

________________________________________

| Problem #6: Alia has 9 apples. Kirat gives
' her 9 more. How many apples does Alia

i have in total?

i Solution:

i Alia has 4 apples.

1 Kirat gives her 5 more apples.

: Total number of apples =4 +5=9

i Alia has 9 apples in total.

P

A e e




